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PHY2053 Health, Summer C 2016
Quiz 4
Date: Wednesday, June 30, 2016
Problem 1: A person opens a door by applying a contant foree of 100 N perpendicular to it, at a distance

of 1 m from the hinge. After rotating by 60°, the door has an angular velocity of 0.8 rad/s. Find the moment
of inertia of the door.
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PHY?2053 Health: Quiz 3 Summer C 2016

Problem 2: A stick of mass 3 kg is suspending by a rope as shown. To prevent the toppling of the stick, o
support is placed under the atick to the left of the point of suspension. Calculate the force of tension exerted

on the stick by the rope.
On the diagram: P = point of suspension, § == support, C = center of mass of the stick.
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